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Time: Three Hours] [Maximum Marks : 75

Note :  Attempt all the Sections as per instructions.
Section-A

(Very Short Answer Questions)

Attempt all five questions. Each question carries

3 marks. . ' 3x5=15
1. Show that in the matrices (4B) =B ' 4",
2. Examine the continuity of the function :

”x-,_ when x#0
0 , whenx=0

ﬂ@=f

“atx =0,



(2)

_ P dv
3. Ifxpyqz(ery)p q,p_rovethat-i=z-
_ . de x
4, Evaluate :
n

Lim (x ;

x—)wkg
5. Prove that :

[a+B, btc, c+al=2labc].

Section-B
(Short Answer Questions)
Attempt any two questions out of the following three

questions. Each question carries 772 marks. 7/2%x2=15

6. State and prove Leibnitz’s theorem of differentiation.
7. Solve by Cramer’s rule :
2x+3y—-3z=0
5x-2y+2z=19
x+7y-5z=5.

8.  Show that the four pomts a+4b —3¢, 3a +2b - 52,

_3a+8b -5¢ and -3 +2b+C are coplanar
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10.

11.

12.

(3)

Section-C
(Detailed Answer Questions)
Attempt any three questions out of the following five

questions. Each questions carries 15 marks. 15x3=45

Determine the eignvalues and eigenvectors of the

[s 4
A= .
i

Find the inverse of the matrix 4, where :
(3 =3 4

-3 4

-1 1

matrix :

A=|2
0

and verify L=aa"

Discuss with examples the types of different

discontinuities.

(a) State and prove Rolle’s theorem.
(b) Find ‘¢’ of the Lagrange’s mean value theorem,
if: _
f(x)=x(x-1)(x-2); a=0, b.z %

18005



13.

(4)

Solve the following parts :

@ j(f%l]e-"dx

' : x4dx
b [
® ] (x+2)(x> +1)
_[ dx :
© 3—4cosx
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